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MODEL PAPER -I1

TIME: 3.00 Hrs MAX.MARKS: 80

PART - A
TIME: 2.30 Hrs MAX.MARKS: 60

SECTION -1

Note: (i) Answer ALL the following

questions

(ii) Each question carries 2 marks.
6x2=12

1. Karunya walks 24m due east and turns

left and walks another 7m, how far is he

now, from the starting point.

2.1fA={a,b,c,d,e,f}and
B ={a, e, i, 0, u} then find n(A—B).

3. The sum of a number and its reciprocal

is 13—0 Find the numbers.

4. Which term of the sequence
-1,3,7,11.... is95?

5. If a pole 6m is high casts a shadow 2v/3
m on the ground, then find the sun’s
elevation.

6. If tanf =2, find the value of —+<%
4 1-cosf

Note: (i) Answer ALL the following
questions from each group
(ii) Each question carries 4 marks.

6x4=24

7.1s the line DE// BC, in the given triangle
ABC, AD = 8cm, DB = 6cm, AE
=12cm, EC = 9cm.

8. The line joining of A (6, 2) and
B (—4, 7) is divided by P such that
AP= —; AB, find the coordinates of P.

9. When 3 coins are rolled simultaneously,
then find the probability of (i) getting at
least one head (i)
exactly two tails.

then verify the relation

help of Venn-diagram.

10. A = {x/x is the set of factors of 36},
B = {x/x is a multiple of 3, x < 40}

n(AUB) = n(A) + n(B) — n(ANB) with the

11. Find the area of a rectangle whose

TIME:1/2 HOUR
MAX.
Instructions:

(i) Answer all questions

MARKS: 20
)

C) Set of even prime numbers
D) set of vowels in an English alphabet.

6. Which of the following is a root of the
equation 3x? —2x—1=0 (

A) x=1 B) x=—1C) x=2 D) x=—2

X CLASS MATHEMATIC

PART - B

dimensions are the roots of the quadratic
equation x> — 8x+12=0.

12. A cone, a hemisphere and a cylinder
stand on equal bases have same height.
Find the ratio of their volumes.

SECTION - 111

Note: (i) Answer any 4 of the following
questions.
(ii) Each question carries 6marks.

4x6=24

13. Show that any positive odd integer is
of the form 4q+1 or 4q +3, 4q +3 where q
is some integer.

14. Draw the graph for the equations
8x + 5y =9 and 3x + 2y = 4 and find the
solution set with the help of graph.

15. The sum of the numerator and
denominator of a fraction is 12. If the
denominator is increased by 3 then the
fraction becomes % Find the fraction.

16. Find the coordinates of the points of
trisection of the line segment joining
(4,-1) and (2, -3)

17. Find the mean of the following data by
deviation method.

Marks | 0-10 1020 2030 30-40 4050 50-60 6070 70-80

Numberof | 5 0 6 | 1 3 8 | 76 ¢4
students

18. If secf + tanfl = p, then show that

pi-1
p?-1

= sinf

(ii) Write the capital letters (A/B/C/D)
showing the correct answer for the
following questions in the brackets
provided against them.
(iii) Each question carries 1 mark.
(iv) Marks will not be awarded in any
case of over writing, rewriting, erased
answers.

1. How many prime factors are there in a

prime factorization of 5005? ( )

A)2 B)4 ()6 D)7

2. The number of zeros of the given graph

is ()
fiz)

5
B)3 C)4 D)5

A)2

3. Which of the following is not a solution
of the pair of equations

3x—2y=4and 6x—4y=87 ( )

A)x=2, y=1 B)x=4,y=4

C)x=6, y=7 D)x=5,y=3

4. The roots of the equation
2x2+5x+4=0 ( )
A) real and distinct

B) not real C) real and equal
D) we cannot say

5. Which of the following is an example of
null set. (

A) Set of natural numbers less than 1

B) Number of months start with

letters M

7. The value ofLﬁo is( )

£in30°+cos60°
A); B)VZ 1 D)none

8.If a +1, 2a +1 and 4a—1 are three
consecutive terms of AP then the
valueofais ( )
A)1 B)2 C3 D4

9. The distance between the points
(0,5)and (5, 0) is (]
A)5 B)5Y2Z C)2v5 D)10

10. Which of the following are cannot be
the sides of right triangle ()

A) 7ecm, 24 cm, 25 cm

B) 5cm, 12cm, 13cm

C) 6cm, 8cm, 10cm

D) 3cm, 5¢cm, 6cm

11. A vertical stick 30m long casts a
shadow 15m long on the ground. At the
same time, a tower casts a shadow 75m
long on the ground. The height of the
tower is ( )

A) 25m B)100m C) 150m D)200m

12. In the given figure, PA and

PB are tangents to a circle with center O. If
PA =11cm and PD = 7cm then length of
CD=?(

A) 2cm

B) 3cm C) 8cm D)1llcm

Maths Senior Faculty

Inmathsir@gmail.com

13. Which term of the AP is 21, 42, 63.... is
210? ()
A) 10th B) 18th C) 25" D)30th

14. A ladder of 10cm length touches a
wall at height of 5m, the angle @ made by
it with the horizontalis (

A)30° B)45° C)60° D)75°

15. A shuttle cock used for playing
badminton has the shape of the
combinationof ______ ( )

A) a cylinder and sphere

B) a sphere and cone

C) a cylinder and a cone

D) a hemisphere and frustum of a cone.

16. The mean and median of the data are
14 and 15 respectively then the mode is

- ()
A)15 B)16 C)17 D)18

17. What is the probability of getting
a red ace card from the deck of
52 cards? { )
1 1 1 1
A) 3 B) b C) = D) 3
18. The sum of the probability of all the
events of an experimentis ()
A); B0 C1 D)
19. If log (x+5)=log 3 + log 5 then the
value of x is ()
A)3 B)4 C)5 D)10

20. The mean of first 10 prime numbers is

- ()
A)10 B)15 C)5.5 D)12.9

ANSWERS TO PART - B
2B, 3D, 4B, S5.A, 6.A,
8B, 9.B, 10.D, 11.C, 12.C,
15.B, 16.B, 17.C, 18.B,

14.A,
20.D.
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